

Multiply by 10^{-3} (A)

Find each product.

$$4,2 \times 10^{-3} =$$

$$5,615 \times 10^{-3} =$$

$$5,9 \times 10^{-3} =$$

$$2,9313 \times 10^{-3} =$$

$$7,967 \times 10^{-3} =$$

$$8,913 \times 10^{-3} =$$

$$0,6399 \times 10^{-3} =$$

$$0,2 \times 10^{-3} =$$

$$3,77 \times 10^{-3} =$$

$$9,13 \times 10^{-3} =$$

$$3,52 \times 10^{-3} =$$

$$7,0818 \times 10^{-3} =$$

$$9,6 \times 10^{-3} =$$

$$8,59 \times 10^{-3} =$$

$$6,05 \times 10^{-3} =$$

$$7,9 \times 10^{-3} =$$

$$7,2 \times 10^{-3} =$$

$$0,568 \times 10^{-3} =$$

$$7,6029 \times 10^{-3} =$$

$$9,7086 \times 10^{-3} =$$